INFRR

HHRFE—NFK

HFHRTFHEZNFR

3 H 3 $
R KA 0 5 O|fF#2AR &l 0 0 0
wIER 4 0 13 O|fA#RAR  =#f 0 4 0
Py—vEk 0 0 ofry~—>k 0 0 0
Ty —TF 0 0 ofr+—>F 0 0 0
DA Al A 0 10 0] D e A 0 5 0
KBRFE=ZNER KRFENER
3 H 3 H
wER KA 0 0 O|fF#RAR &l 0 7 0
wIER 4 0 1 O[&#AR  #h 0 10 0
Ty—vEk 0 0 ofry~+—>k 0 0
Ty —TF 0 0 ofr+—>7F 0 0
DA Al A 0 5 0] D e A 0 13 0
AL INFRR RIENFR
5 P2 5 3£
FigiR =l 0 0 O|fF#RAR & 0 0 0
FIRAR 4l 0 0 O|fA#RAR  =+#h 0 0 0
Ty—vEk 0 1 o|r+—>E 0 0 0
Ty —TF 0 2 0| +—>F 0 0 0
DA Al A 0 8 0] D A A 0 0 0
i Bl A== N = EIL/NER
e 3 5 B2
FigAR = 0 0 O|fF#RAR & 0 4 0
AIRAR 4 0 0 O|fA#RAR  =+#h 0 7 0
Ty—vEk 0 0 ofr~—>E 0 0 0
Py —=IF 0 0 ofrv—>7F 0 0 0
D2 Al A 0 0 0] D e A 0 6 0
RAENER AL BN
e 3 5 B2
RIR KA 0 4 O|f#8IR &l 0 0 0
AIRAR 4 0 12 O|fA#RAR =+ 0 1 0
Ty—Tk 0 0 o|r+—> kL 0 0 0
=TT 0 0 ofrv—>F 0 0 0
D2 Al A 0 16 0] D 2 A 0 1 0
HARNFR A ARNFI
e Eas 3 3
AR =l 0 4 O|fF#RAR KA 0 0 0
IR 4 0 6 O|fA#RAR = 0 0 0
Ty—vk 0 0 o|r+—>E 0 0 0
Ty —IF 0 0 ofryv—>F 0 0 0
D A A 0 11 o+ —>Fn—7 0 0 0
i /INFER
3 Eas




FgAR =l 0 0 0

AR 4 0 3 0

D e 0 0 0

Ty —YF 0 0 0

DA Al A 0 6 0

FR
KFRFHRER AL R
B Z
BIRE B R4l 0 0 O|flfR £ B Kl 0 0 0
BIARE E 4 0 0 O[#IARE E h 0 0 2
FRE % 13 0 O|fIRLE % 8 0 12
HART = 11 0 O|#IART ZE 5 1 6
BART % 13 0 O|#IAR T % 9 4 7
F#AR = 0 16 O|fF#RAR R 0 0 0
AR 4 0 13 O|&#EAR 4l 0 11 0
vy—TE 0 38 o+ —> 0 31 0
Ty —TF 0 43 o|v—>F 0 30 0
D Al A 0 50 0] D e Al 0 36 0
BFREANY 0 0 o @xEAA /N 0 5 0
BEANY T 0 16 O @=FR/Nvy ¥ 0 3 0
E¥ 0 9 O|E™ 0 2 0
WmIERFR LB R
C Es
FIRE B K 0 0 OlflfR = & K 0 0 0
HIRE B 0 0 O|fIfR £ & 4 0 0 0
FRE % 2 0 8IHIAR L % 5 0 1
HART E 1 0 IHIART B 0 0 3
BART % 5 0 IIHIART % 4 0 2
FigAR =l 0 0 O|f&#AR =Al 0 3 0
AR 4 0 1 O|f&#AR 4l 0 2 0
vy—TE 0 15 o+ —> Ek 0 2 0
Ty —YF 0 22 ofr+—>7F 0 1 0
D2 el A 0 11 (0] D e A 0 0 0
BFEAEAH/NV 0 4 Of@xRAH/N N~ 0 2 0
BERANY T 0 2 0] Pzi= s A 0 2 0
E¥ 0 1 0|/ E¥) 0 1 0
AFRPER BILRFR
3 E

FIRE E K 0 0 OlflfR E & K 0 0

FIARE B 0 0 O|fIfR £ & 4 0 0

FRE % 0 O|#IAiR £ % 10 0

HRT E 5 0 O[FIRT E 6 0

BART % 8 0 O[FIART % 3 0

R KA 0 3 O|fF#2AR &l 0 15

IER 4 0 14 O|f&#EAR 4l 0 10




y—TE 0 32 o|rv—>kt 0 37 0
Ty —TF 0 23 0|+ —>F 0 33 0
DA Al A 0 29 0] D e A 0 24 0
BFERAA/NY 0 0 O @xRAH/ N~ 0 6 0
BERNY Y 0 3 O @xH/NNy 7 0 7 0
¥ 0 O|E™ 0 1 0
SEN
HKRFHERER HRFER
C= H 3 Bas
fIRE B K 0 0 O[#IfRE E K 0 0 0
FIRE B 0 0 O[#IfRE E Fh 0 0 0
FIRE % 4 0 O[#IfRLE %&£ 4 1 10
BRT E 5 0 O[#IRT = 4 0 11
BIART % 4 0 O[#IART % 3 0 10
N b 0 0 0| X k 0 5 1
t—x— 1 1 Ol t—%— 0 10 0
FigAR =l 0 0 O|fF#RAR & 0 0 0
HIRAR 4 0 1 O|fA#RAR  =+#h 0 0 0
Ty—vEk 0 1 o|r+—> kL 0 0 0
Ty —TF 0 0 0| +—>F 0 0 0
DA Al A 0 0 0] D e A 0 0 0
E=o 0 0 O[5 0 0 0
BFEAA/NY 0 0 Ol B=RHAh/ v 0 0 0
BERANY 7 0 0 (0] = A 0 0 0
7| 0 0 O|E™ 0 0 0
Yvy KA 0 0 oY+ & 0 0 0
Y¥ vy  Fif 0 0 ofY> v i 0 0 0
—fEEER R RF TSR
5 3t 5 Eas
FIRE B K 0 0 OIflfR £ B Kl 0 0 0
FIARE B 0 0 O|fIfR £ B =4 0 0 0
FIRE % 1 0 O[#IfRLE %&£ 1 0 1
BRT E 1 0 O[FIRT = 0 0 1
HIRT % 1 0 O|fIAR T % 1 0 1
Nk 0 0 0| X k 0 3 0
tt—%— 0 0 Ol t—%— 0 1 0
AR =l 0 0 O|fF#RAR KA 0 0 0
IR 4 0 0 O|fA#RAR = 0 0 0
Ty—Tk 0 0 o|r+—> kL 0 0 0
=TT 0 0 ofrv—>F 0 0 0
D2 Al A 0 0 0] D A 0 0 0
(== 0 0 O|fEx%E 0 0 2
BERH NV 0 0 OpBFHA /N> 0 0 0
BFERANY 7 0 0 0] B i= s A 0 0 0
&%) 0 0 0| 0 0 0




Y vy R 0 olY> v R 1 4
Yoy i 0 ofY> v i 0 5
Rl SR R
AL Bl X R AR KR TR SR FR

5 $t 28 B $# Z

fRE E K 0 0 O[#IfR E E K 0 0 0
FRE B ¥ 0 0 O[#IAR E E h 0 0 0
fIRE % 0 0 HBRLE % 0 0 0
HRT ZE 0 0 1IHRT B 0 0 0
BART % 0 0 1HRT % 0 0 0
N b 0 0 O[~RXR K 0 0 0
tt—%— 0 0 Ol t—%— 0 0 0
FEIR =l 0 0 O|f&#AR  =Alt 0 0 0
AR 4 0 0 OfF#2AR  #h 0 0 0
Py—TE 0 0 0|+ —> Ek 0 0 0
Ty —YF 0 0 o[+ —>F 0 0 0
D2 Al A 0 0 0] D e A 0 0 0
=¥ 0 0 2|15 0 0 0
BFEREANY 0 0 O @B=xEAH/ > 0 0 0
BEANY 7 0 0 O @=FR/NNvy ¥ 0 0 0
&%) 0 0 O|E™ 0 0 0

R59AIRTE

XA ROV T, BBEICTHMAE (LA,
XBBALDZA IV /s> T, LEOHBERRORBEREZBADHY £7,
MEBORTPRIOBEEE, HHEP=2—RTT Yy TA—FLELET,




